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6HJDOD� 3XML� EDJL� $OODK� 6:7� \DQJ� 0DKD� 3HPXUDK� GDQ� 0DKD� 3HQ\D\DQJ�

VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�SURSRVDO�WXJDV�DNKLU LQL�\DQJ�EHUMXGXO�³6LPXODVL�

3HQ\HEDUDQ� 3HQ\DNLW� ,QIOXHQ]D GDQ� 3QHXPRQLD� 'HQJDQ� 3HQJDUXK� 9DNVLQ %HUEVLV�

6LVWHP�$JHQ´�GHQJDQ�EDLN�GDQ�ODQFDU��6KDODZDW�GDQ�VDODP�VHPRJD�VHODOX�WHUFXUDKNDQ�

NHSDGD�1DEL�0XKDPPDG�6$:�EHVHUWD�NHOXDUJD�GDQ�VDKDEDWQ\D�

7XMXDQ�GLVXVXQQ\D�7XJDV�$NKLU�LQL�XQWXN�PHPHQXKL�VDODK�VDWX�V\DUDW�NHOXOXVDQ�

PDWD�NXOLDK�7XJDV�$NKLU��'DODP�SHQJHUMDDQ�7XJDV�$NKLU� LQL� SHQXOLV�PHQJXFDSNDQ�

WHULPDNDVLK�NHSDGD�EDQ\DN�SLKDN�\DQJ�VDQJDW�PHPEDQWX�GDODP�EDQ\DN�KDO�WHUXWDPD�

NHSDGD��

�� %DSDN� %XGKL� ,UDZDQ�� 6�6L��� 0�7�� �� VHODNX� GRVHQ� SHPELPELQJ� ,� \DQJ� WHODK�

PHPELPELQJ�GDODP�SHQ\XVXQDQ�7XJDV�$NKLU LQL�KLQJJD�VHOHVDL�

�� %DSDN�'U��3XUED�'DUX�.XVXPD��6�7��VHODNX�GRVHQ�SHPELPELQJ�,,�\DQJ�WHODK�

PHPELPELQJ�GDODP�SHQ\XVXQDQ�7XJDV�$NKLU LQL�KLQJJD�VHOHVDL�

�� 2UDQJ�WXD�WHUFLQWD�\DQJ�WHODK�EDQ\DN�PHPEHULNDQ�GXNXQJDQ�GDQ�GRD�NHSDGD�

SHQXOLV�VHFDUD�PRULO�PDXSXQ�PDWHULO�

�� 6HPXD�SLKDN�\DQJ�WHODK�EDQ\DN�PHPEDQWX�GDODP�SHPEXDWDQ�7XJDV�$NKLU�LQL��

\DQJ�WLGDN�ELVD�SHQXOLV�VHEXWNDQ�VHPXDQ\D�

%DQGXQJ���� $SULO�����

3HQXOLV
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